
Tab. č. 34: Vzájomné hodnotenie kritérií  (kritériá podľa Prílohy č. 10)  
I.1 I.1 I.1 I.1 I.1 I.1 I.1 I.1 I.1 I.1 I.1 I.1 I.1 I.1 I.1 I.1 I.1 I.1 I.1 I.1 4+0 0,021 

I.2 I.3 I.4 I.5 I.6 I.7 I.8 II.1 II.2 II.3 II.4 III.1 III.2 III.3 III.4 III.5 III.6 III.7 III.8    

= I.2 I.2 I.2 I.2 I.2 I.2 I.2 I.2 I.2 I.2 I.2 I.2 I.2  I.2 I.2 I.2 I.2 I.2 I.2 2+0 0,011 

 I.3 I.4 I.5 I.6 I.7 I.8 II.1 II.2 II.3 II.4 III.1 III.2 III.3 III.4 III.5 III.6 III.7 III.8    

  I.3 I.3 I.3 I.3 I.3 I.3 I.3 I.3 I.3 I.3 I.3 I.3 I.3 I.3 I.3 I.3 I.3 I.3 2+2 0,021 

  I.4 I.5 I.6 I.7 I.8 II.1 II.2 II.3 II.4 III.1 III.2 III.3 III.4 III.5 III.6 III.7 III.8    

   I.4 I.4 I.4 I.4 I.4 I.4 I.4 I.4 I.4 I.4 I.4 I.4 I.4 I.4 I.4 I.4 I.4 3+3 0,032 

   I.5 I.6 I.7 I.8 II.1 II.2 II.3 II.4 III.1 III.2 III.3 III.4 III.5 III.6 III.7 III.8    

    I.5 I.5 I.5 I.5 I.5 I.5 I.5 I.5 I.5 I.5 I.5 I.5 I.5 I.5 I.5 I.5 15+4 0,100 

    I.6 I.7 I.8 II.1 II.2 II.3 II.4 III.1 III.2 III.3 III.4 III.5 III.6 III.7 III.8    

     I.6 I.6 I.6 I.6 I.6 I.6 I.6 I.6 I.6 I.6 I.6 I.6 I.6 I.6 I.6 14+4 0,095 

     I.7 I.8 II.1 II.2 II.3 II.4 III.1 III.2 III.3 III.4 III.5 III.6 III.7 III.8    

      I.7 I.7 I.7 I.7 I.7 I.7 I.7 I.7 I.7 I.7 I.7 I.7 I.7 I.7 11+4 0,079 

      I.8 II.1 II.2 II.3 II.4 III.1 III.2 III.3 III.4 III.5 III.6 III.7 III.8    

       I.8 I.8 I.8 I.8 I.8 I.8 I.8 I.8 I.8 I.8 I.8 I.8 I.8 9+3 0,063 

       II.1 II.2 II.3 II.4 III.1 III.2 III.3 III.4 III.5 III.6 III.7 III.8    

        II.1 II.1 II.1 II.1 II.1 II.1 II.1 II.1 II.1 II.1 II.1 II.1 2+3 0,026 

        II.2 II.3 II.4 III.1 III.2 III.3 III.4 III.5 III.6 III.7 III.8    

         II.2 II.2 II.2 II.2 II.2 II.2 II.2 II.2 II.2 II.2 II.2 1+0 0,005 

         II.3 II.4 III.1 III.2 III.3 III.4 III.5 III.6 III.7 III.8    

          II.3 II.3 II.3 II.3 II.3 II.3 II.3 II.3 II.3 II.3 3+5 0,042 

          II.4 III.1 III.2 III.3 III.4 III.5 III.6 III.7 III.8    

           II.4 II.4 II.4 II.4 II.4 II.4 II.4 II.4 II.4 7+7 0,074 

           III.1 III.2 III.3 III.4 III.5 III.6 III.7 III.8    

            III.1 III.1 III.1 III.1 III.1 III.1 III.1 III.1 1+6 0,037 

            III.2 III.3 III.4 III.5 III.6 III.7 III.8    

             III.2 III.2 III.2 III.2 III.2 III.2 III.2 5+9 0,074 

             III.3 III.4 III.5 III.6 III.7 III.8    

              III.3 III.3 III.3 III.3 III.3 III.3 0+3 0,016 

              III.4 III.5 III.6 III.7 III.8    

               III.4 III.4 III.4 III.4 III.4 4+11 0,079 

               III.5 III.6 III.7 III.8    

                III.5 III.5 III.5 III.5 0+10 0,052 

                III.6 III.7 III.8    

                 III.6 III.6 III.6 0+10 0,052 

                 III.7 III.8    

                  III.7 III.7 0+11 0,058 

                  III.8    

                   III.8 0+12 0,063 

                                                      ∑190                1,000 


